Question 1
Question text
Judicial review of an administrative action means
Select one:
a. Review by the Judiciary
b. Review by the Legislative Assembly
c. Review by the Government
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d. Review by the Parliament

Question 2

Question text

Read Assertion (A) and Reason (R) and find correct answer using codes given below:
Assertion (A): Equality is antithetic to arbitrariness.

Reason (R): Article 14 of the Indian Constitution prevents arbitrary discretion being vested in
the executive.

Codes:

Select one:
a. Both (A) and (R) are true and (R) is correct explanation of (A).
b. Both (A) and (R) are true, but (R) is not correct explanation of (A).
c. (A) is true, but (R) is false.
d. (A) is false, but (R) is true.
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Question 3

Question text

In which of the following conditions, the abuse of discretionary power is inferred?
i. Use for improper purpose

ii. Mala fide

iii. Relevant consideration

iv. Leaving out irrelevant consideration

Answer using codes given below:
Codes:



YYD

T YD

Select one:
a. Only i is correct.
b. Only i and ii are correct.
c. Only i, ii and iii are correct.

d. All of above are correct.

Question 4

Question text

In which of the following grounds the judicial review of an administrative action be made?
(1) Abuse of discretion

(ii) Mala fide or bad faith

(iii) Irrelevant consideration

(iv) Unreasonableness

Codes:

Select one:
a. Only (i), (ii) and (iii) are correct.
b. Only (i) and (ii) are correct.
c. Only (ii) and (iii) are correct.
d. All (i), (i), (iii) and (iv) are correct.



